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Solution to Exercise 3.34
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With the definition of the two-point correlation,

Rij(r,z, 1) (3.160) <uZ (z,t)u;(z + 7, t)> (1)
= <uj(:c+fr,t)ui(m+'r—r,t)>
= <uj (', t)u;(x' — r,t)> = Rji(—r,x',t) (2)

Every statistic (here, in particular, R;;(r,x,t)) evaluating a statistically
homogeneous field does not depend on the point where it is evaluated:

Rij(r,x,t)
- Rz‘j(ra €, t) -

Rij(r, z2,t) V., T2
Rij(r,t) (3)

Analogous for Rj;(—r, ', t):

Rji(—r,x,t) = Rj(—r,z) t)Vix,
<:>Rji(—r,w',t) = Rji(—’r,t) (4)



Since we derived
Rji(—’f‘, CC/, t) = Rij(’l", I, t)
for an arbitrary point @, we obtain

Rji(—’l", t) = Rij('l",t) .
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